VISUAL IMAGE
STORE

Su1s = 200 [70 - 1000] ms
Hyig= 17 {7 - 17] letters

LONG-TERM MEMORY

WORKING MEMORY

AUDITORY IMAGE

35 = 1500 {900 - 3500] ms
Has=5[4.4-6.2] letters

Kpg = Physical /\

Sum=

Hirm=
K | tm= semantic

Hwm = 3 (2.5 - 4.1} chunks
Hwa*= 7 [5 - 8] chunks
Swm =7 [5 - 226] sec
S (1 chunk) = 73 [73 - 226] sec
Sy (3 chunks) = 7 [5 - 34] sec

STORE

Kyis = Physical

7 /_\ ﬂ Kum = Acoustic or Visual
] ]

/L

Perceptual
Processor
TP =100 [50 - 200}
ms
Eye movement = 230 [70 - 700] ms

Cognitive =

. Processor
Motor
Processor

Ty = 70130 - 1001




